Topic 5 - Portable Power

Name:  ________________  Date:  __________  Class:  ______
General Outcome #2:  Describe devices used to convert electrical energy.
· Can I Understand the use of different chemicals and design for electrical storage cells?

-electricity can be stored chemically (potential energy) in a __________    
-a battery is made up of __________________ electrochemical cells  
An electrochemical cell needs TWO things:

1. ______________  (common batteries use zinc and carbon)

-one metal is the ____________________   (Anode)
-this metal _______________ electrons to the circuit

-the other metal is the _________________ (Cathode)
-this metal ___________________electrons

-this passing of electrons create an electric current

2. ______________
-usually the solution or paste is ______________or ___________
(distilled water will not work)
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-if the electrolyte ____________ it is then known as a ____________ 

e.g. car batteries
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-if the electrolyte is a _____________it is known as a ____________
e.g. alkaline batteries

The strength of the chemical reaction in a cell 
determines the voltage delivered by the cell.
Primary Cells are _______________________ 
-the larger the battery, the more power that they can store 
e.g. Larger D cells contain more chemicals than smaller A cells so they can store more energy (they last longer, but do not produce more voltage)
Secondary Cells are _____________________
-the chemical reaction which produces the electricity can be reversed by __________________________________
-this restores the chemicals so that the cell can continue producing electricity 
Arrangement of Batteries

One cell is usually 1.5V.  

1.  Two cells in __________________ (positive hooked to negative electrodes)     

      will amplify voltage (2 x 1.5v = 3V).  
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Adv:  -____________________
__________________________

Disadv: ___________________
__________________________
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                9v battery
   6 x 1.5v cells in series
2.  Two cells in _______________(positive to positive electrode and negative to negative electrode) will only produce 1.5V.
Adv:  _______________________
____________________________
Disadv: ______________________
_____________________________
Draw a circuit using 8 cells that will produce 6 volts of power that will last twice as long.  This is how batteries are arranged when you need to place 8 D cells in a large portable CD player.
